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import pandas as pd
import numpy as np
import matplotlib.pyplot as plt
from sklearn.model_selection import StratifiedShuffleSplit
housing = pd. read_csv (“datasets/housing/housing. csv”)
housing[“income_cat”] = pd. cut (housing[“median_income”]
bins=[0.0, 1.5, 3.0, 4.5, 6.0, np. inf], labels=[1, 2, 3, 4, 5])
split = StratifiedShuffleSplit(n_splits=1, test_size=0.2, random_state=42)
for train_index, test_index in split. split(housing, housing[”income_cat”]):
strat_train_set = housing. loc[train_index]
strat_test_set = housing. loc[test_index]

for set_ in (strat_train_set, strat_test_set):
set_. drop(“income_cat”, axis=1, inplace=True)

housing = strat_train_set. drop ("median_house_value”, axis=1)
housing_labels = strat_train_set[“median_house_value”]. copy()

# longitude latitude housing_median_age total_rooms total_bedrooms households median_income median_house_value ocean_proximity

#RE 8 EEHOPRE HEH BEEX gk RADGHRE FEMEOPRIE BEONEBK

SEOTOY S L~
#HIEIER (BE. 8F) I2£5
housing = strat_train_set. copy()
housing. plot (kind="scatter”, x="longitude”, y="latitude”)

{AxesSubplot:xlabel="longitude', ylabel="latitude >
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housing. plot (kind="scatter”, x

“longitude”, y="latitude”, alpha=0.1)

<{AxesSubplot:xlabel="longitude', ylabel="latitude >
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#EEM@E B, AOD: HOEBERT

housing. plot (kind="scatter”, x="longitude”, y="latitude”, alpha=0.4,
s=housing[“population®]/100, label="population”, figsize=(10,7),
c="median_house_value”, cmap=plt. get_cmap(“jet”), colorbar=True
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)
plt. legend()

Out[6]: <matplotlib. legend. Legend at 0x2186¢cbha7040>
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In [7]: # Z2EHBERH-E7V2Dr
corr_matrix = housing. corr ()
corr_matrix[“median_house_value”]. sort_values (ascending=False)

Out[7]: median_house_value 1.000000
median_income 0.687160
total_rooms 0. 135097
housing_median_age 0.114110
households 0. 064506
total_bedrooms 0.047689
population -0.026920
longitude -0. 047432
latitude -0.142724

Name: median_house_value, dtype: float64
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# Pandas [Tk S EZRBOEEEE

from pandas.plotting import scatter_matrix

attributes =["median_house_value”, “median_income”, “total_rooms”, “housing _median_age”]
scatter_matrix (housingl[attributes], figsize=(12,8))

array ([[<AxesSubplot:xlabel="median_house_value', ylabel="median_house_value >,
<{AxesSubplot:xlabel="median_income’ , ylabel="median_house_value’ >,
<{AxesSubplot:xlabel="total_rooms’, ylabel="median_house_value’ >,
{AxesSubplot:xlabel="housing_median_age', ylabel="median_house_value’ >]
[<AxesSubplot:xlabel="median_house_value', ylabel="median_income’ >,
<{AxesSubplot:xlabel="median_income’, ylabel="median_income’ >,
<{AxesSubplot:xlabel="total_rooms’, ylabel="median_income >,
<{AxesSubplot:xlabel="housing_median_age', ylabel="median_income’ >]
[<AxesSubplot:xlabel="median_house_value', ylabel="total_rooms’ >,
<{AxesSubplot:xlabel="median_income’ , ylabel="total_rooms >,
<{AxesSubplot:xlabel="total_rooms’, ylabel="total_rooms’ >,
{AxesSubplot:xlabel="housing_median_age', ylabel="total_rooms’>],
[<AxesSubplot:xlabel="median_house_value', ylabel="housing_median_age’ >,
<{AxesSubplot:xlabel="median_income’, ylabel="housing_median_age >,
<{AxesSubplot:xlabel="total_rooms’, ylabel="housing_median_age’ >,
<AxesSubplot:xlabel="housing median_age', ylabel="housing_median_age >]]

dtype=object)
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In [97: housing. plot(kind="scatter”, x="median_income”, y="median_house_value”, alpha=0.1)

Out[9]: <AxesSubplot:xlabel="median_income’, ylabel="median_house_value >
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In [10]: # BHEOHEAELEICKIHEBDOIERK & HEE
housing[“rooms_per_household”] = housing[“total_rooms”] / housing[“households”]
housing[“bedrooms_per_room”] = housing[“total_bedrooms”] / housing[“total_rooms”]
housing[“population_per_household”] = housing[“population”™] / housing[“households”]

corr_matrix = housing. corr ()
corr_matrix[“median_house_value”]. sort_values (ascending=False)

Out[10]: median_house_value 1..000000
~ median_income 0.687160
rooms_per_household 0.146285
total_rooms 0.135097
housing_median_age 0.114110
households 0.064506
total_bedrooms 0.047689

population_per_household -0.021985

population -0.026920
longitude -0. 047432
latitude -0.142724
bedrooms_per_room —-0. 259984

Name: median_house_value, dtybe: float64
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